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Adding a 1-digit to a 2-digit number
Sheet 1

practice_add-sub_3181_day1

21 + 9 = 83 + 3 = 39 + 5  = 12 + 9  =

45 + 5 = 21 + 7 =

Part A

73 + 7 = 47 + 2  = 36 + 6  = 87 + 4  =

14 + 6 = 13 + 2  = 45 + 7  = 34 + 8  =

Part B

28 + 4  = 46 + 8  =

68 + 2 = 114 + 6 = 78 + 8  = 128 + 4=

33 + 5 = 123 + 5 =

25 + 3 = 154 + 3 = 27 + 5  = 119 + 6 =

62 + 4 = 194 + 5 = 18 + 6  = 175 + 6 =

33 + 9  = 144 + 6 =
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Challenge

How many possible pairs of numbers that add to make 90 are there? One of the numbers must have 2-digits. One must be 
less than 10.


